Domination Parameters in Graphs

Tutorials. Prove or disprove.

Bounds

1. For a graph G, v(G) < vr(G) < 2v(G)

2. For a graph G, v(G) < v34(G) < 2v(G)

3. For a graph G, v(G) < Yeer (G) < 29(G)

4. For a graph G, 7(G) < 112(G) < 2v9(G) — 1
5. For a graph G, 71 2(G) < Yg°(G) < 271 2(G)
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6. For a graph G, Yeer (G) < YR(G) < 27cer (G).

Equalities
1. If 1 2(G) = 29(G) — 1, then G is Roman.

2. If G is Roman, then v, 5(G) = 2v(G) — 1.
. If G is Roman, then ... (G) = v(G).
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. ] Yeer (G) = v(G), then G is Roman.
If G is without leaves, then v...(G) = v(G).
. ] Yeer (G) = (@), then G is without leaves.

. If G is without leaves and without triangles, then v 2(G) = v(G).

. If ’7172 (G)
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= ~v(G), then G is without leaves and without triangles.

Trees |
. If T is a tree with n(7") > 3, then v1 2(T) < Yeer (G).

. If T is a tree with n(7") > 3, then v1 o(T") < YE(G).
. If T is a tree with n(T") > 3, then Yr(T') < 279cer(G).

Trees |l
Let n1(7") be the number of leaves in T'.

. 2 (T)—ny (T)+2
It is proven that v(T") > 3 .

Find similar bounds for other domination numbers.



